CLASS : 12th (Sr. Secondary) Code No. 1231
Series : SS/Annual Exam.-2024
Roll No. SET: A

S ICRCEIG]

BIOLOGY

[ Hindi and English Medium |
ACADEMIC/OPEN

(Only for Fresh/Re-appear/Improvement/Additional Candidates)

Time allowed : 3 hours | [ Maximum Marks : 70

o FUT FT BT [ 5 F9T-79 § GRT § 16 9 797 35 &
Please make sure that the printed pages in this question paper are 16 in number
and it contains 35 questions.

o Jo7-7H ¥ e & @ I T T8 FE TE Tl f F OH FI-Yiaw F FEI-g8 9
el

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.
o Y FIT P TV [VGT @ FNT G YBe, FIT F HHIH T [ord
Before beginning to answer a question, its Serial Number must be written.
o FUT-YitTHE & = H @l §,/9 7 881
Don’t leave blank page/pages in your answer-book.

o TUCYTHE F SRkET 2 o e T& Al o savamagar & fhd st fiar gav 7
#Ie)

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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(2) 1231/(Set : A)
o TUETE U AT To JoT-TH T Haeq [@ W To F HARFT FIT-YH G o FE A T
frd sit dmfoqs g9 & Gkl q¥ el J@re @7 9T T g

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o U F97 % IUT 37 @ {4 & ghAlEd #Y d [ Fe7-0F {7 T 78 8, g # I 59
T 7 g o arar w&hHe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

T 73T -
() @ 9T it &
(i) 39 F97-97 7 7 35 757 &, ol Gq @7e] < A, §, W, T 7 A F w8

(i) & -9 71T 18 T TGI8 J7 &1 J&9% 797 1 377 F &1

(v) &€ - § 4 J97 G& 19 @ 25 7% - TgHITE J97 &1 JA% J97 % 2 5% &

(v) &% - T H I97 G 26 § 30 T TEAVHB J97 &1 J9% F97 % 3 3% &
(i) &Y€ - § T 797 g7 31 TF 32 [FF ST F97 81 JAF 97 F 4 37F &)
(vii) @Y - J T 797 G&q7 33 @ 35 T& FH FTUNHE JI97 &1 F9F F97 & 5 3% &1

(Vi) @Y€ - § G T § F G 7971 7 0T @€ - T & G g97 F o7F [Hey 9T 87
3 g9 # @ el & T g 7 @ Fa @& & 997 HA &)

General Instructions :

(i) All questions are compulsory.

(i) This question paper contains 35 questions, which are divided into five
Sections : A, B, C, D and E.

(iii) Section — A contains 1 to 18 objective type questions. Each question carries
1 mark.

(iv) Section — B contains question numbers 19 to 25 of very short answer type
questions and carry 2 marks each.

1231/(Set : A)



(3) 1231/(Set : A)

(v) Section - C contains question numbers 26 to 30 of short answer type
questions and carry 3 marks each.

(vi) Section — D contains question numbers 31 & 32 are figure based questions
and carry 4 marks each.

(vii) Section - E contains question numbers 33 to 35 are long answer type
questions and carry 5 marks each.

(viit) Internal choice is available in two questions of Section-B, C and D and all
questions of Section-E. You have to attempt only one of the given choice in
such questions.

gug - A
SECTION- A
1. LH (Tqes) 68 W % & 8 ? 1
(A) ST IR (B) WKl RN
(C) (A) X (B) T (D) T
LH acts on :
(A) Leydig cells (B) Sertoli cells
(C) Both (A) & (B) (D) Spermatogonia
2. &l § 9y 1 g} SF-|1 B Ffed B 8 7 1
(A) LH (B) FSH (C) offdefe (D) I |+
Which hormone is secreted by Pituitary gland in human female ?
(A) LH (B) FSH (C) Oxytocin (D) All of these
3. fr=fofed & & ®F-a1 50 & TR 787 el ? 1
(A) IfeERiREr (B) eTEfgam (C) = (D) dreX-feren
Which of the following is not pollinated by water ?
(A) Vallisneria (B) Hydrilla (C) Zostera (D) Water-lily

1231/(Set : A) P.T.O.
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4. wivege fFd W B B ? 1
(A) mRNA (B) tRNA (C) rRNA (D) DNA
Anticodon is present on :
(A) mRNA (B) tRNA (C) rRNA (D) DNA

5. WA o sEgeM Sdi § dEcEM § do1 2 ¢ ¢ 1
(A) 1 (B) 2 € 3 (D) 4
By how many hydrogen bonds guanine is bonded with cytosine ?
(A) 1 (B) 2 € 3 (D) 4

6. =g § & HIF-81 ARTIT YiefiRe] TEEHA ARTAT (rRNA) (28s, 18s d 5.8s) &l
FFarad &Y © 7 1
A) 1 (B) 1I (C) I (D) T8 | Hi3 &
Which of the following RNA polymerase transcribes rRNAs (28s, 18s & 5.8s) ?
Aa) I B) I (C) I (D) None of these

7. U B SIOAT § 15% WRAHN o1 369 fhaq siasd g Enl 7 1
(A) 15% B) 25% (C) 35% (D) 45%

A double stranded DNA has 15% cytosine. What will be the percentage of
thiamine in it ?

(A) 15% (B) 25% (C) 35% (D) 45%

8. fr=fafad § @ &M agAsa TEgeH & Reldgd & g & 7 1
INERSIE (B) WET® (C) dffeafar (D) ¥ gl
Which of the following can fix atmospheric nitrogen ?
(A) Anabaena (B) Nostoc (C) Oscillatoria (D) All of these

9. frfeied & & & A & Bl (TReEEed) & Wer & ? 1
(A) e (B) & (C) e Ais (I®) (D) I &

1231/(Set : A)



(5) 1231/(Set : A)
Which of the following is reservoir of Erythrocytes ?

(A) Spleen (B) Heart (C) Lymph node (D) All of these

10. fF 018 & WRAEEHYT TSl HRE § 7 1
(A)  BRGT (B) T (© fafewn (D) T & g T
Pollen grains of which plant cause allergy ?
(A) Coriander (B) Parthenium (C) Triticum (D) None of these

11. FF-8 S Iq N H HTTE HA 8, SN TR BH Bl AR B & ? 1
() w3 1TE (B) %R II TS
(©) (A) X (B) A (D) R I Cf
The proteins encoded by which gene control corn borer ?
(A) CryIAc (B) CryII Ab
(C) Both (A) & (B) (D) CryIAb

12. HF-91 FRF & 7 1
(a) 9T (B) @ PieT
(C) iR I iRl IS (D) ¥

Which is a dipteran ?

(A) Beetle (B) Army worm
(C) Tobacco bud worm (D) Mosquito
13. -9 57 &g ST H A8 ? 1
(A) TG THR T (B) Sg &
(C) T T (D) ¥ & P& T

1231/(Set : A) P.T.O.



(6) 1231/(Set : A)

Which is a part of in situ conservation ?

(A) Wildlife Safari Park (B) Zoological Park
(C) National Park (D) None of these

14. TR GHEN SR FreT Aual e IRER® FRm & 38 § 7 1
(A) eI (B) e
(C) Rwiifer (D) EEITHIRAT

Interaction between sea anemone and clown fish is an example of :
(A) Commensalism (B) Competition

(C) Parasitism (D) Mutualism

797 G&qr 15, 16, 17 07 18 ¥ §-3 397 {7 T & : Sif¥aeT (A) ST #I (R) 79 RY 7@
FYGHT [9%cY] T =TT #0d §T 7 % IV &
The question nos. 15, 16, 17 & 18 given below consists of two statements each :

Assertion (A) and Reason (R). Answer the questions by selecting the appropriate
option given below :

15. ARERE (A) : AT WG ScEchar 9bd MAHs Scahar 9 I e B 1
HRT (R) : AT ArIHE ICREHAT H 6 AFT 9969 & QN SR &l Sl gl
fopeT
(A) STEEE (A) 3R BRI (R) AMI T & a1 SR (R), SIRHA (A) 3 98l are 2l
(B) IR (A) AR HROT (R) IMI 9 & Wg &RV (R), HAHRIT (A) H Tel AreAn el
2|

(C) AR (A) § & W= BT (R) 36 ol
(D) SIR1FET (A) Td BRI (R) A1 & 36 &

1231/(Set : A)




(7) 1231/(Set : A)
Assertion (A) : Net primary productivity is greater than gross primary

productivity.
Reason (R) : A part of net primary productivity goes waste during respiration.
Options :

(A) Assertion (A) and Reason (R) both are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Assertion (A) and Reason (R) both are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

16. STEHEA (A) : 35T TF SfUsiissd ol 1
FHROT (R) : 2 Grdt () & 98 | o< S
forpeT

(A)  SARrEwEE (A) 3R HROT (R) AMT T & T SR (R), SIHSN (A) & 98 & R

(B) SIRMREA (A) AR PR (R) 3Nl € § Tg BRO (R), AHT (A) B el aren Tel
2l

(C) AR (A) § & W= BT (R) 36 ol

(D) ST (A) Td HRT (R) IS & T8 2

1231/(Set : A) P.T.O.
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Assertion (A) : Heroin is an opioids.
Reason (R) : Heroin is obtained from Poppy plant.
Options :

(A) Assertion (A) and Reason (R) both are true and Reason (R) is the correct

explanation of Assertion (4).

(B) Assertion (A) and Reason (R) both are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) are true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

17. SA9HEE (A) : 519 W Bl JHIAC G et & e & gl 1
HR (R) : 9 Treiiires & SIf¥epay SuAT & Jifea el @l Prear Td fusr aian =
o
(A)  SARrEwEE (A) 3R HROT (R) AMT T & T BROT (R), SIEN (A) & 98 & 2

(B) SIRREA (A) 3R PR (R) 3Nl € § Tg BR (R), AHT (A) B el aren Tel
2l

(C) AR (A) § & W= BT (R) 36 ol

(D) SIR1FET (A) Td BRI (R) A1 & 36 &

1231/(Set : A)
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Assertion (A) : Biotechnology started with development of recombinant
molecules.

Reason (R) : Biotechnology mostly involves in cutting & pasting of desired parts
of DNA.

Options :

(A) Assertion (A) and Reason (R) both are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Assertion (A) and Reason (R) both are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) are true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

18. REHUT (A) : SEIHIT U TR P USSrEl 8 off SRX & JFRar & Gsbiva Hifdmepratt g™
fafifa 2 B 1

PR (R) : STTHUA AT & ©F W G H A0 B &l
faepeq -
(A) AREE (A) 3R HROT (R) AMT G & T SR (R), SIHET (A) H &l e 2

(B) SIRREA (A) AR PR (R) 3Nl € § Tg BR (R), AHT (A) B el aren Tel
2l

(C) SIRHEA (A) §W@ & Wy &RV (R) 96 3

(D) ST (A) Td &R (R) IS & T8 2
1231/(Set : A) P.T.O.
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Assertion (A) : Interferons are a type of antibodies produced by bacteria
infected cells of the body.

Reason (R) : Interferons stimulate inflammation at the site of injury.
Options :

(A) Assertion (A) and Reason (R) both are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Assertion (A) and Reason (R) both are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) are true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

gug - §
SECTION - B

19. &9 foiTT Heres el & M g 2

Name various male sex accessory ducts.

20. FEIPM (TYwiss) fF8 Fad & ? 36& Hls & Saedv [y 2

What is Aneuploidy ? Write any two example of it.

21. S¥F GRSl T B TH [ARaw 366 39§ HERY T % 39 § 1 A o 7 2
Name first transgenic cow. What is the advantage of its milk over natural cow
milk ?

1231/(Set : A)



(11) 1231/(Set : A)
22. UF 85 § Jafafaear & @i d F 99e 8 2 7 2

What is the impact of loss of biodiversity in a region ?

23. RS U9 AT 1 Bld & ° 2

What is detritus and decomposition ?

24. R TEE 969 B PRI FT 8 7 2

What are the reasons of rise in our population ?

YqT

OR

ff=T dfer e SRgel & W ffaw A B seR e § 9 ©

Name various copper releasing IUDs. How do these help in contraception ?

25. YT UF B BT & AR 6 ®9 F ISl Sl o1 36& STEIE e B T &1 5 ! 2

What is the genetic basis of proof that codon is a triplet and is read in
contiguous manner ?

AYAT
OR
AUG &1 & % 1 8 ?
What is the dual function of AUG ?

1231/(Set : A) P.T.O.



26.

27.

28.

29.

30.

(12) 1231/(Set
s -9
SECTION - C

Teh T & YOT & AIRY I BT A o= 15T |

Draw a well labelled diagram of L. S. embryo of a grass.

HARTAY YA 1, 11, 11 & e
Write down the role of RNA polymerase I, II, III.

qedl # TR & 9w W ST @ Aew@yqer faftEr @ e ?
What are the important defence mechanisms in plants against herbivory ?

el uen & fafr= Al & aR F fafaw

Write about various barriers of innate immunity.

e
OR

g & WA & SlveRE S F4 Bd o ¢

What are the harmful effects of using tobacco ?

SIeu & fafire Wl W fRE Y @Ier S ghdr § 7

How can DNA be cut at specific locations ?

STeE
OR

Sig-SEiE & @7 e SgHa & H-9 § 7

What are the three critical research areas of biotechnology ?

1231/(Set : A)

: A)
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goE - g
SECTION - D

31.

{2 —» Water out

Condenser

Liquid water in trap

PR & AT &SI o &1 afgn iR Frfofed gt & S iR
See the above diagram of Miller's experiment and answer the following questions :

(i) 9 IREET B FarY FE R 9 S Ry U des™ @ gerda @ e § RS
H B T TR 2

State the hypothesis which Miller tried to prove in the laboratory with the
help of setup of experiment given above.

AYqT
OR

= T | BiF-HE-d N T § a6 7

Which gases were used in this experiment ?

(i) fE ad § R = g8 sy fear ? 1
In which year Miller performed this experiment ?

(iii) SN B TA P qE A A T & 3@ T PE AN BT AW 1
Name the organic compounds observed by him in liquid after running the
experiment.

1231/(Set : A) P.T.O.
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32. QTR & TR0 B Th oS daed e R w31 599 gatag efia gt
% JAT T ¢

Schematic representation of the steps in PCR is shown below. Answer its related
following questions :

=)

+ deoxynucleotides

() AR D =Rl % M SRy 1
Name the step of A and D.
(i) TSR #1 FE F T ? 1
What is the functions of PCR ?
(iii) B @ TedT X FqH THEND ©F 0 2 7 2
Identify B and what is its chemical nature ?
AIqT
OR

CHFN e ? I8 %9 g ¥ urg &ar 2 ?

What is C ? Name its source organism.

1231/(Set : A)
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gog - g
SECTION - E

33. AMA ¥ JHAS & S § ATl (FFACY) T BN AW URdaH! (SEaral) & e ST 5

Describe the changes take place from the formation of zygote to implantation in

human.
37T
OR
TR &1 AT R | o &

Describe the structure of pollen grain in detail.

34. STUEH IHE H AU BT 5

Describe transcription unit.

STeET

OR

q9a ¥ 9T 99 a9 Al emaaa Rt @ g

Describe various chromosomal disorders found in human beings.

35. = IUERI § GEASial bl AR T A o 5
Describe the role of microbes in household products.

1231/(Set : A) P.T.O.
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g

OR
WA T USRA & e Sced § GEnsidl i R # avi S

Describe the role of microbes in the production of Industrial chemicals and

enzymes.

1231/(Set : A)



CLASS : 12th (Sr. Secondary) Code No. 1231
Series : SS/Annual Exam.-2024
Roll No. SET : B

S ICRCEIG]

BIOLOGY

[ Hindi and English Medium |
ACADEMIC/OPEN

(Only for Fresh/Re-appear/Improvement/Additional Candidates)

Time allowed : 3 hours | [ Maximum Marks : 70

o FUT FT BT [ 5 F9T-79 § GRT § 16 9 797 35 &
Please make sure that the printed pages in this question paper are 16 in number
and it contains 35 questions.

o Jo7-7H ¥ e & @ I T T8 FE TE Tl f F OH FI-Yiaw F FEI-g8 9
el

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.
o Y FIT P TV [VGT @ FNT G YBe, FIT F HHIH T [ord
Before beginning to answer a question, its Serial Number must be written.
o FUT-YitTHE & = H @l §,/9 7 881
Don’t leave blank page/pages in your answer-book.

o TUCYTHE F SRkET 2 o e T& Al o savamagar & fhd st fiar gav 7
#Ie)

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

1231/(Set : B) P.T.O.



(2) 1231/(Set : B)
o TUETE U AT To JoT-TH T Haeq [@ W To F HARFT FIT-YH G o FE A T
frd sit dmfoqs g9 & Gkl q¥ el J@re @7 9T T g

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o U F97 % IUT 37 @ {4 & ghAlEd #Y d [ Fe7-0F {7 T 78 8, g # I 59
T 7 g o arar w&hHe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

T 73T -
() @ 9T it &
(i) 39 F97-97 7 7 35 757 &, ol Gq @7e] < A, §, W, T 7 A F w8

(i) & -9 71T 18 T TGI8 J7 &1 J&9% 797 1 377 F &1

(v) &€ - § 4 J97 G& 19 @ 25 7% - TgHITE J97 &1 JA% J97 % 2 5% &

(v) &% - T H I97 G 26 § 30 T TEAVHB J97 &1 J9% F97 % 3 3% &
(i) &Y€ - § T 797 g7 31 TF 32 [FF ST F97 81 JAF 97 F 4 37F &)
(vii) @Y - J T 797 G&q7 33 @ 35 T& FH FTUNHE JI97 &1 F9F F97 & 5 3% &1

(Vi) @Y€ - § G T § F G 7971 7 0T @€ - T & G g97 F o7F [Hey 9T 87
3 g9 # @ el & T g 7 @ Fa @& & 997 HA &)

General Instructions :

(i) All questions are compulsory.

(i) This question paper contains 35 questions, which are divided into five
Sections : A, B, C, D and E.

(iii) Section — A contains 1 to 18 objective type questions. Each question carries
1 mark.

(iv) Section — B contains question numbers 19 to 25 of very short answer type
questions and carry 2 marks each.

1231/(Set : B)



(3) 1231/(Set : B)

(v) Section - C contains question numbers 26 to 30 of short answer type
questions and carry 3 marks each.

(vi) Section — D contains question numbers 31 & 32 are figure based questions
and carry 4 marks each.

(vii) Section - E contains question numbers 33 to 35 are long answer type
questions and carry 5 marks each.

(viit) Internal choice is available in two questions of Section-B, C and D and all
questions of Section-E. You have to attempt only one of the given choice in
such questions.

gug - A
SECTION- A
1. N b eEgo g9 § aEadN 9 §er 2 g ? 1
(A) 1 (B) 2 € 3 (D) 4
By how many hydrogen bonds guanine is bonded with cytosine ?
(A) 1 (B) 2 € 3 (D) 4

2. frffed § & $F-1 SIRTAT Uiams TEEEMT STRTAT (rRNA) (28s, 18s T 5.8s) &l
T &Y © 7 1
A) 1 (B) II (C) I (D) T & Hig &l
Which of the following RNA polymerase transcribes rRNAs (28s, 18s & 5.8s) ?
(A) I B) I (C) I (D) None of these

3. & faXomid STy § 15% AEcEe ol 399 fhad dfaad e erft ? 1
(A) 15% (B) 25% (C) 35% (D) 45%

A double stranded DNA has 15% cytosine. What will be the percentage of
thiamine in it ?

(A) 15% (B) 25% (C) 35% (D) 45%
4. FfAfad 3 @ $IF agHsad AEgo S Redigd HT Tl o 7 1
(A) UATET (B) et (C) offfeRar (D) I o+

1231/(Set : B) P.T.O.
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Which of the following can fix atmospheric nitrogen ?

(A) Anabaena (B) Nostoc (C) Oscillatoria (D) All of these

5. ffafed & § &M A & el (eiaEed) & Her 8 ? 1
(A) e (B) &d (C) e Aie (3%) (D) T &R
Which of the following is reservoir of Erythrocytes ?
(A) Spleen (B) Heart (C) Lymph node (D) All of these

6. 8 Y & W Toll FH © ¢ 1
(A) R (B) A (©) fafewm (D) ¥ & g T
Pollen grains of which plant cause allergy ?
(A) Coriander (B) Parthenium (C) Triticum (D) None of these

7. HF-H SN I I B fEas BT o, Sl TEH 8ah dHl ARG HA & 7 1
(A) T [ TE (B) %7 II it
(©) (A) ST (B) T (D) e 1T

The proteins encoded by which gene control corn borer ?

(A) CryIAc (B) CrylIl Ab
(C) Both (A) & (B) (D) CryIAb
8. HV-ar feRye B ? 1
(A) T (B) & Fer
(C) iR I iRl IS (D) ¥

Which is a dipteran ?
(A) Beetle (B) Army worm

(C) Tobacco bud worm (D) Mosquito

1231/(Set : B)
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10.

11.

12.

(5) 1231/(Set : B)

DI 57 g HEOT B AT S 7

(A) TIeIE HER I (B) g &

(©) T (D) & & K Tl
Which is a part of in situ conservation ?

(A) Wildlife Safari Park (B) Zoological Park
(C) National Park (D) None of these

P G iR are 7ol 6 URER® Bhar & Iaeer § °

(A)  TEITr (B) el

(C) TSiear (D) ERIUeRIRAT

Interaction between sea anemone and clown fish is an example of :
(A) Commensalism (B) Competition

(C) Parasitism (D) Mutualism

LH (Toes) fF T & & © 7

(A) R PifRwEHT (B) @elel RN
(©) (A) ST (B) T (D) T

LH acts on :

(A) Leydig cells (B) Sertoli cells

(C) Both (A) & (B) (D) Spermatogonia

& § dgu 9 g1 se-a & afed B § 7

(A) LH (B) FSH (C) offFe™ (D) ¥ &+
Which hormone is secreted by Pituitary gland in human female ?
(A) LH (B) FSH (C) Oxytocin (D) All of these

1231/(Set : B)
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13. fFr=fofed & & @F-|1 o @ 9Ufa 787 ain ? 1
(A) Afcremia (B) ewEfgam (C) = (D) arex-fereht
Which of the following is not pollinated by water ?
(A) Vallisneria (B) Hydrilla (C) Zostera (D) Water-lily

14. HiseRe e W 8 8 ? 1
(A) mRNA (B) tRNA (C) rRNA (D) DNA

Anticodon is present on :
(A) mRNA (B) tRNA (C) rRNA (D) DNA

797 @& 15, 16, 17 07 18 7 -8 %97 Ry 70 & : 3f¥@eT (A) 3T 1T (R) #7 R 7@
FYGFT [T B T9T BT 5T 597 & FaY g

The question nos. 15, 16, 17 & 18 given below consists of two statements each :
Assertion (A) and Reason (R). Answer the questions by selecting the appropriate
option given below :

15. SIFEHEE (A) : 30T TF SifUsiisgd ol 1
FHROT (R) : 2 Grdt () & 98 | o< S
forpeT

(A)  SARrEwEE (A) 3R HROT (R) AMT T & T SR (R), SIHSN (A) & 98 & R

(B) SIRMREA (A) AR PR (R) 3Nl € § Tg BRO (R), AHT (A) B el aren Tel
2l

(C) AR (A) § & W= BT (R) 36 ol

(D) ST (A) Td HRT (R) IS & T8 2

1231/(Set : B)
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Assertion (A) : Heroin is an opioids.
Reason (R) : Heroin is obtained from Poppy plant.
Options :

(A) Assertion (A) and Reason (R) both are true and Reason (R) is the correct

explanation of Assertion (4).

(B) Assertion (A) and Reason (R) both are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) are true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

16. SAHEI (A) : 319 WS Hl LHIAC G el & [ & gl 1
FHRT (R) : 919 A ¥ Sty SIUAT & qited 8 Bl e U9 U e el
o
(A)  SARrEwEE (A) 3R HROT (R) AMT T & T BROT (R), SIEN (A) & 98 & 2

(B) SIRREA (A) 3R PR (R) 3Nl € § Tg BR (R), AHT (A) B el aren Tel
2l

(C) AR (A) § & W= BT (R) 36 ol

(D) SIR1FET (A) Td BRI (R) A1 & 36 &

1231/(Set : B) P.T.O.
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Assertion (A) : Biotechnology started with development of recombinant
molecules.

Reason (R) : Biotechnology mostly involves in cutting & pasting of desired parts
of DNA.

Options :

(A) Assertion (A) and Reason (R) both are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Assertion (A) and Reason (R) both are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) are true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

17. AR (A) : ST U TR P UESrEl 8 off SRX & JFRar & Ssbiva Hifdmepett g
fafifa 2 B 1

PR (R) : STTHUA AT & ©F W G H A0 B &l
faepeq -
(A) AREE (A) 3R HROT (R) AMT G & T SR (R), SIHET (A) H &l e 2

(B) SIRREA (A) AR PR (R) 3Nl € § Tg BR (R), AHT (A) B el aren Tel
2l

(C) SIRHEA (A) §W@ & Wy &RV (R) 96 3

(D) ARFYT (A) Td BRI (R) A1 & T8 &l
1231/(Set : B)
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Assertion (A) : Interferons are a type of antibodies produced by bacteria
infected cells of the body.
Reason (R) : Interferons stimulate inflammation at the site of injury.
Options :

(A) Assertion (A) and Reason (R) both are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Assertion (A) and Reason (R) both are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) are true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

18. ARHY (A) : S WAE IcEhar Hha WAHE Scehdal o T Sl B 1
HRT (R) : i MWD STEDT PN Uh HFT 96T B QAT SERd & A ol
o
(A)  SARmEwE (A) 3R HROT (R) AMT T & T SR (R), SIEH (A) & T & 2

(B) IR (A) AR HROT (R) IFI G & g &RV (R), AHRIT (A) H Tel e el
2|

(C) AR (A) § & W= BT (R) 36 ol
(D) ARFYT (A) Td BRI (R) A1 & T8 &l

1231/(Set : B) P.T.O.



19.

20.

21.

(10) 1231/(Set : B)

Assertion (A) : Net primary productivity is greater than gross primary

productivity.
Reason (R) : A part of net primary productivity goes waste during respiration.
Options :

(A) Assertion (A) and Reason (R) both are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Assertion (A) and Reason (R) both are true, but Reason (R) is not the

correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

gug - §
SECTION - B

Yo RSl T & AW g see g WERe M9 S g9 | H’ A § 7 2
Name first transgenic cow. What is the advantage of its milk over natural cow
milk ?

T 89 ¥ Safafqyar @ @y @ 1 999 B & ? 2

What is the impact of loss of biodiversity in a region ?

TG TS {99 9497 8 d & 7 2

What is detritus and decomposition ?

1231/(Set : B)
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22. BN JTEE o9 B PR FT 8 7 2

What are the reasons of rise in our population ?

STeE

OR

=T dfer e SRgel & W ffaw A B seR e § @ © ?

Name various copper releasing IUDs. How do these help in contraception ?

23. YT UF B Bl & AR 6 ®9 F GSI Sl o1 36& SAEIE SMER B T &1 5 ! 2

What is the genetic basis of proof that codon is a triplet and is read in
contiguous manner ?

3TeEr
OR
AUG &I 80 & 1 2 ?
What is the dual function of AUG ?
24. &Y [ Here A & Tm g 2

Name various male sex accessory ducts.

25. FGIFT (TYise)) fF8 @ed § ? 3@ s @ el fray 2

What is Aneuploidy ? Write any two example of it.

1231/(Set : B) P.T.O.



26.

27.

28.

(12) 1231/(Set :

qe -9

SECTION- C

TH TS T Sl @ AHited o SR

Draw a well labelled diagrammatic view of a typical anatropous ovule.

el uwen & fafrs At & aR § fafaw

Write about various barriers of innate immunity.

YqT

OR

g & WA & elveRE S9E &1 2 o ¢

What are the harmful effects of using tobacco ?

STy i fafire Nl W fhE Y @ler ST 9T § 7

How can DNA be cut at specific locations ?
AYAT
OR

Sig-SEiE & @7 e SgHe &5 H-9 § 7

What are the three critical research areas of biotechnology ?

1231/(Set : B)
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29. HRCAT YRS 1, 11, 11 & & o) 3
Write down the role of RNA polymerase I, II, III.

30. URUl H ARG & 5w W B B ey e /&l ? 3
What are the important defence mechanisms in plants against herbivory ?
gug - §
SECTION -D

31. QIR & TR B TH oS Samied e (e @ 31 599 geivag e geet
% IAT 4N -

Schematic representation of the steps in PCR is shown below. Answer its related
following questions :

@Heat (Aa)

"
TT T T T T 1T 1 I T |
=

Sl e o
R O

(B)

-
+ deoxynucleotides

1231/(Set : B) P.T.O.
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(i) A SR DI & M AT
Name the step of A and D.

(i) GefieT ®1 P B ?
What is the functions of PCR ?

(i) B Ted S 36H THEMEG S 0 8 P
Identify B and what is its chemical nature ?

YqT
OR

CHTZ? I %9 g § o & 2 ?

What is C ? Name its source organism.

32.

Electrodes

organic com

Liquid water in trap

1231/(Set : B)
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33.

(15) 1231/(Set : B)

e & T & I o @ aRgr R Frfafad gt & saX G -

See the above diagram of Miller's experiment and answer the following questions :

(@)

(i)

(i)

39 GRHeT & SaRt e Bt 7 9 R T Geei i Jerdr § SERener § S
F N A R 2

State the hypothesis which Miller tried to prove in the laboratory with the
help of setup of experiment given above.

HAYAT

OR
39 WA F BE-DHE-A I A § a7

Which gases were used in this experiment ?

fpe ad o forer 3 7 s R ? 1
In which year Miller performed this experiment ?
TN B TAM & % XA § 9 BN @ Y HES AN B AW g 1

Name the organic compounds observed by him in liquid after running the
experiment.

qus - g
SECTION - E
ST FH1E 1 U iy 5
Describe transcription unit.
YqT
OR

IMg & U 9N g [l e f9eRt @ o R

Describe various chromosomal disorders found in human beings.

1231/(Set : B) P.T.O.



(16) 1231/(Set : B)
34. W IUE § GEASiEl Bl Gl B AU i) 5

Describe the role of microbes in household products.
AYAT

OR
A T USEA & e Sced § GEAsidl Sl R # avi S

Describe the role of microbes in the production of Industrial chemicals and

enzymes.

35. AMA ¥ JHAST & S § ATl (SFAIC) T BN aK URdaHl (SEaral) & e Hiorl 5

Describe the changes take place from the formation of zygote to implantation in

human.
ST
OR
RFTRYT &l HXET H1 foRaX & guie it

Describe the structure of pollen grain in detail.

1231/(Set : B)



CLASS : 12th (Sr. Secondary) Code No. 1231
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S ICRCEIG]

BIOLOGY

[ Hindi and English Medium |
ACADEMIC/OPEN

(Only for Fresh/Re-appear/Improvement/Additional Candidates)

Time allowed : 3 hours | [ Maximum Marks : 70

o FUT FT BT [ 5 F9T-79 § GRT § 16 9 797 35 &
Please make sure that the printed pages in this question paper are 16 in number
and it contains 35 questions.

o Jo7-7H ¥ e & @ I T T8 FE TE Tl f F OH FI-Yiaw F FEI-g8 9
el

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.
o Y FIT P TV [VGT @ FNT G YBe, FIT F HHIH T [ord
Before beginning to answer a question, its Serial Number must be written.
o FUT-YitTHE & = H @l §,/9 7 881
Don’t leave blank page/pages in your answer-book.

o TUCYTHE F SRkET 2 o e T& Al o savamagar & fhd st fiar gav 7
#Ie)

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

1231/(Set : C) P.T.O.



(2) 1231/(Set : C)
o TUETE U AT To JoT-TH T Haeq [@ W To F HARFT FIT-YH G o FE A T
frd sit dmfoqs g9 & Gkl q¥ el J@re @7 9T T g

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o U F97 % IUT 37 @ {4 & ghAlEd #Y d [ Fe7-0F {7 T 78 8, g # I 59
T 7 g o arar w&hHe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

T 73T -
() @ 9T it &
(i) 39 F97-97 7 7 35 757 &, ol Gq @7e] < A, §, W, T 7 A F w8

(i) & -9 71T 18 T TGI8 J7 &1 J&9% 797 1 377 F &1

(v) &€ - § 4 J97 G& 19 @ 25 7% - TgHITE J97 &1 JA% J97 % 2 5% &

(v) &% - T H I97 G 26 § 30 T TEAVHB J97 &1 J9% F97 % 3 3% &
(i) &Y€ - § T 797 g7 31 TF 32 [FF ST F97 81 JAF 97 F 4 37F &)
(vii) @Y - J T 797 G&q7 33 @ 35 T& FH FTUNHE JI97 &1 F9F F97 & 5 3% &1

(Vi) @Y€ - § G T § F G 7971 7 0T @€ - T & G g97 F o7F [Hey 9T 87
3 g9 # @ el & T g 7 @ Fa @& & 997 HA &)

General Instructions :

(i) All questions are compulsory.

(i) This question paper contains 35 questions, which are divided into five
Sections : A, B, C, D and E.

(iii) Section — A contains 1 to 18 objective type questions. Each question carries
1 mark.

(iv) Section — B contains question numbers 19 to 25 of very short answer type
questions and carry 2 marks each.

1231/(Set : C)



(3) 1231/(Set : C)

(v) Section - C contains question numbers 26 to 30 of short answer type
questions and carry 3 marks each.

(vi) Section — D contains question numbers 31 & 32 are figure based questions
and carry 4 marks each.

(vii) Section - E contains question numbers 33 to 35 are long answer type
questions and carry 5 marks each.

(viit) Internal choice is available in two questions of Section-B, C and D and all
questions of Section-E. You have to attempt only one of the given choice in
such questions.

qus - A
SECTION- A
1. HH-8 S 39 IS B HITS B &, SN F9H Beh I MR F § 7 1
(A) 3B T Tl (B) %M II TSI
(C) (A) &R (B) & (D) i 1T

The proteins encoded by which gene control corn borer ?

(A) CryIAc (B) Cry II Ab
(C) Both (A) & (B) (D) CryIAb
2. HH-91 e & 7 1
(A) o B) & e
(C) TSR 1 HiCTR HIg] (D) A=Y

Which is a dipteran ?
(A) Beetle (B) Army worm

(C) Tobacco bud worm (D) Mosquito

1231/(Set : C) P.T.O.
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3. PIF-H1 57 Hig GO B A 7

(A) TIeIE HER I (B) g &
(C) U I (D) & q Hig T
Which is a part of in situ conservation ?
(A) Wildlife Safari Park (B) Zoological Park
(C) National Park (D) None of these

4. A TAAA SR FMeA wOdl fhd URERE FRAT SR & ¢
(A) FERfSE B) @t
(C) TRSilfere (D) HRIGHIRT
Interaction between sea anemone and clown fish is an example of :
(A) Commensalism (B) Competition
(C) Parasitism (D) Mutualism

5. LH (Toud) fre T &/ &3l @ ?

(A) ST HifET (B) welel Hifaren

(©) (A) X (B) A (D) EFERMfET

LH acts on :

(A) Leydig cells (B) Sertoli cells

(C) Both (A) & (B) (D) Spermatogonia
6. & ¥ gy W g1 HF-|1 &M Ffed B § ¢

(A) LH (B) FSH (C) offiEfm (D) I |+l

Which hormone is secreted by Pituitary gland in human female ?

(A) LH (B) FSH (C) Oxytocin (D) All of these
7. Fefated § @ #9-91 99 § WIRK 787 e ?

(A) IfeERiREr (B) eTEfgam (C) = (D) areX-ferent

1231/(Set : C)
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Which of the following is not pollinated by water ?

(A) Vallisneria (B) Hydrilla (C) Zostera (D) Water-lily

8. fege fhd W B B ? 1
(A) mRNA (B) tRNA (C) rRNA (D) DNA
Anticodon is present on :
(A) mRNA (B) tRNA (C) rRNA (D) DNA

9. MM fha™ RS d4 ¥ TEadN § Fer B g ? 1
(A) 1 (B) 2 € 3 (D) 4
By how many hydrogen bonds guanine is bonded with cytosine ?
(A) 1 (B) 2 € 3 (D) 4

10. Ffafad § & HHF-91 SRTAT UieiHRs TEaEMa STRUAT (rRNA) (28s, 18s T 5.8s) &l

FFarad &Y © 7 1
A) 1 (B) II (C) I (D) T8 q Hi3 &

Which of the following RNA polymerase transcribes rRNAs (28s, 18s & 5.8s) ?

(A) I B) I (C) 1I (D) None of these
11. % G ST & 15% QRN 81 399 e ufaad aeie e ? 1
(A) 15% (B) 25% (C) 35% (D) 45%

A double stranded DNA has 15% cytosine. What will be the percentage of
thiamine in it ?

(A) 15% B) 25% (C) 35% (D) 45%
12. Frfafed & & @ agHsd TEae & RekiEd B @bl & ¢ 1
(A)  TATEST (B) WIEi® (C) offteaRar (D) ¥ &+l
Which of the following can fix atmospheric nitrogen ?
(A) Anabaena (B) Nostoc (C) Oscillatoria (D) All of these

1231/(Set : C) P.T.O.
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13. f=fafad & | &9 o & S (TRedRed) # HeR & 7 1
(a) e B) T (C) W s () ) I T
Which of the following is reservoir of Erythrocytes ?
(A) Spleen (B) Heart (C) Lymph node (D) All of these

14. 59 Q8 & TR Teoll HXh & 1
(4) R (B) (©) fefem (D) FH & Fg T

Pollen grains of which plant cause allergy ?
(A) Coriander (B) Parthenium (C) Triticum (D) None of these

797 @& 15, 16, 17 7 18 7 G-§ 97 Ry 77 & - 319 (A) 3T &R (R) 7 Ry 1@
FYGFT [3% T TI7T BT §T Foh % TV AT -

The question nos. 15, 16, 17 & 18 given below consists of two statements each :
Assertion (A) and Reason (R). Answer the questions by selecting the appropriate
option given below :

15. IRERET (A) : BT U TR P UESrEl 8 off SRX & JFar & Gsbiva Hifdmepett g
fafifa 2 B 1

PR (R) : STTHUA AT & ©F W G H A0 B &l
faepeq -
(A) AREE (A) 3R HROT (R) AMT T & T SR (R), SIHET (A) H &l 2T 2

(B) SIRREA (A) AR PR (R) NI € § Tg BR (R), AHT (A) B el aren Tel
2l

(C) SIRHEA (A) §W@ & Wy &RV (R) 96 3

(D) ARFY (A) Td BRI (R) A1 & T8 &l
1231/(Set : C)



(7) 1231/(Set : C)
Assertion (A) : Interferons are a type of antibodies produced by bacteria
infected cells of the body.

Reason (R) : Interferons stimulate inflammation at the site of injury.
Options :

(A) Assertion (A) and Reason (R) both are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Assertion (A) and Reason (R) both are true, but Reason (R) is not the

correct explanation of Assertion (A).

(C) Assertion (A) are true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

16. SIRFHIT (A) : T WA SEhaT Ghd MG Scarachar 9 31 Bl gl 1
HRT (R) : AT AIHE ICRHA H U6 AT 9969 & QN SRR &l Sl 8l
o
(A) STEEE (A) 3R BRI (R) M1 9T & a1 SR (R), SIS (A) & 98l aare 2l

(B) IR (A) AR HROT (R) IMI G & Wg &RV (R), HAHRIT (A) H TeI AreA1 Tel
2|

(C) SIRREE (A) §W & Wy &RV (R) 36 3

(D) SIR1FET (A) Td BRI (R) A1 & 36 &

1231/(Set : C) P.T.O.
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Assertion (A) : Net primary productivity is greater than gross primary

productivity.
Reason (R) : A part of net primary productivity goes waste during respiration.
Options :

(A) Assertion (A) and Reason (R) both are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Assertion (A) and Reason (R) both are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

17. I (A) : 30T TF SfUsiissd ol 1
FHROT (R) : 2 Grdt () & 98 | o< S
forpeT

(A)  SARrEwEE (A) 3R HROT (R) AMT T & T SR (R), SIHSN (A) & 98 & R

(B) SIRMREA (A) AR PR (R) 3Nl € § Tg BRO (R), AHT (A) B el aren Tel
2l

(C) AR (A) § & W= BT (R) 36 ol

(D) ST (A) Td HRT (R) IS & T8 2

1231/(Set : C)



(9) 1231/(Set : C)

Assertion (A) : Heroin is an opioids.
Reason (R) : Heroin is obtained from Poppy plant.
Options :

(A) Assertion (A) and Reason (R) both are true and Reason (R) is the correct

explanation of Assertion (4).

(B) Assertion (A) and Reason (R) both are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) are true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

18. AHE (A) : 519 WM Hl LHIAW JTANS AT & o & gl 1
HR (R) : 9 Treiiires & SIf¥epay SuAT & Jifea el @l Prear Td fusr aian =
o
(A)  SARrEwEE (A) 3R HROT (R) AMT T & T BROT (R), SIEN (A) & 98 & 2

(B) SIRREA (A) 3R PR (R) 3Nl € § Tg BR (R), AHT (A) B el aren Tel
2l

(C) AR (A) § & W= BT (R) 36 ol

(D) SIR1FET (A) Td BRI (R) A1 & 36 &

1231/(Set : C) P.T.O.
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Assertion (A) : Biotechnology started with development of recombinant
molecules.

Reason (R) : Biotechnology mostly involves in cutting & pasting of desired parts
of DNA.

Options :

(A) Assertion (A) and Reason (R) both are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Assertion (A) and Reason (R) both are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) are true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

gug - §
SECTION - B

19. YT T% B BT & AR d9ad &9 & UeT Sl ! 36% SM{dRih SR & SHT #&r 8 7 2

What is the genetic basis of proof that codon is a triplet and is read in
contiguous manner ?

YqT
OR

AUG & & %8 3497 & ?

What is the dual function of AUG ?

1231/(Set : C)



20.

21.

22.

23.

24.

25.

(11) 1231/(Set : C)
g5y {6 Hews Afiimet & M 2

Name various male sex accessory ducts.

SR (TgwEe)) Rl @ B 7 Ee @S @ Sare faraw 2
What is Aneuploidy ? Write any two example of it.
Yo Rl T & AW e see g H WeRe M9 S gY | o’ A § 7 2

Name first transgenic cow. What is the advantage of its milk over natural cow
milk ?

T 89 ¥ Safafgyar @ &y & 1 999 B & ? 2

What is the impact of loss of biodiversity in a region ?

WE U9 IgeT 47 Bld & 7 2

What is detritus and decomposition ?

BHN SVEE 981 & BRI T & 7 2

What are the reasons of rise in our population ?

STeE
OR

=T dfer e SRgel & W ffaw A B seR e § 9 © ?

Name various copper releasing IUDs. How do these help in contraception ?

1231/(Set : C) P.T.O.



26.

27.

28.

29.

30.

(12) 1231/(Set
s -9
SECTION - C

URUeE YT BT B Th ARG FEIADT BN AHifbe ol =T

Draw a well labelled diagrammatic representation of the mature embryo sac.

STy F fafire @ W 6 SR @rer S el § 7
How can DNA be cut at specific locations ?

SLE|

OR
Saq-NefE & @7 eees EE &5 B4 § 7

What are the three critical research areas of biotechnology ?

HARTAY Uil 1, 10, 11 & e e
Write down the role of RNA polymerase I, II, III.

TRl # TRl & 9w W ST @ Aew@qe faftEr @ e ?

What are the important defence mechanisms in plants against herbivory ?

el uwen & fafe= A & aR § fafaw

Write about various barriers of innate immunity.

7T
OR
e & SANT & BERE TG F1 B § 7

What are the harmful effects of using tobacco ?

1231/(Set : C)

: C)



31.

R & A & Swied o @ fgr R frefefad gt & IX @R -

(13)
gos - T
SECTION-D

Electrodes

=9 —» Water out

Condenser

Liquid water in trap

1231/(Set : C)

See the above diagram of Miller's experiment and answer the following questions :
(i) P9 ad 4 R 3 I8 A e ?
In which year Miller performed this experiment ?

(ii) SERT B TN B & ARG B b BN 3@ T HED ARTD B AW Ry 1

Name the organic compounds observed by him in liquid after running the

experiment.

1

(il) IE IRHAT B FARY P R 7 SR [T T Georw I FeEar § A § s
H B T R

State the hypothesis which Miller tried to prove in the laboratory with the
help of setup of experiment given above.

YqT
OR

= WA | BiF-aE-d 09 T § a6 7

Which gases were used in this experiment ?

1231/(Set : C)
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1231/(Set : C)

32. QTR & TR0 B TH oS daed e R @ 31 599 gaiag eEiia gt

% IAT 4N -

Schematic representation of the steps in PCR is shown below. Answer its related

following questions :

T T T T T T T T
~

5o e a
s  aEEEEERENEE

-
+ deoxynucleotides

() GER F FE e ?
What is the functions of PCR ?
(i) B % TEAT AR B TERANE B 8 7
Identify B and what is its chemical nature ?
AYqT

OR
CFN e ? I8 %9 g ¥ urg &ar 2 7

What is C ? Name its source organism.
(iii) A D =X & T FaARTY

Name the step of A and D.

1231/(Set : C)
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gog - g
SECTION - E

33. HXY IUEI § GEASIEl bl G{HEHT T qU HiroTg 5
Describe the role of microbes in household products.

e
OR
WEA U U & A Ided § geHsiial i e B avi it

Describe the role of microbes in the production of Industrial chemicals and

enzymes.

34. AT § AT & S @ AT (3FACYE) T e ai IRl (F&aa) & aoiE el 5

Describe the changes take place from the formation of zygote to implantation in

human.
ST
OR
WRFTRYT &l HXE H1 fovaR & guie i)

Describe the structure of pollen grain in detail.
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35. TG THE H AU Tl 5

Describe transcription unit.

3TeE

OR

q9a ¥ 9T 99 a9 Al emeaa Rt @ g B

Describe various chromosomal disorders found in human beings.
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o FUT FT BT [ 5 F9T-79 § GRT § 16 9 797 35 &
Please make sure that the printed pages in this question paper are 16 in number
and it contains 35 questions.

o Jo7-7H ¥ e & @ I T T8 FE TE Tl f F OH FI-Yiaw F FEI-g8 9
el

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.
o Y FIT P TV [VGT @ FNT G YBe, FIT F HHIH T [ord
Before beginning to answer a question, its Serial Number must be written.
o FUT-YitTHE & = H @l §,/9 7 881
Don’t leave blank page/pages in your answer-book.

o TUCYTHE F SRkET 2 o e T& Al o savamagar & fhd st fiar gav 7
#Ie)

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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o TUETE U AT To JoT-TH T Haeq [@ W To F HARFT FIT-YH G o FE A T
frd sit dmfoqs g9 & Gkl q¥ el J@re @7 9T T g

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o U F97 % IUT 37 @ {4 & ghAlEd #Y d [ Fe7-0F {7 T 78 8, g # I 59
T 7 g o arar w&hHe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

T 73T -
() @ 9T it &
(i) 39 F97-97 7 7 35 757 &, ol Gq @7e] < A, §, W, T 7 A F w8

(i) & -9 71T 18 T TGI8 J7 &1 J&9% 797 1 377 F &1

(v) &€ - § 4 J97 G& 19 @ 25 7% - TgHITE J97 &1 JA% J97 % 2 5% &

(v) &% - T H I97 G 26 § 30 T TEAVHB J97 &1 J9% F97 % 3 3% &
(i) &Y€ - § T 797 g7 31 TF 32 [FF ST F97 81 JAF 97 F 4 37F &)
(vii) @Y - J T 797 G&q7 33 @ 35 T& FH FTUNHE JI97 &1 F9F F97 & 5 3% &1

(Vi) @Y€ - § G T § F G 7971 7 0T @€ - T & G g97 F o7F [Hey 9T 87
3 g9 # @ el & T g 7 @ Fa @& & 997 HA &)

General Instructions :

(i) All questions are compulsory.

(i) This question paper contains 35 questions, which are divided into five
Sections : A, B, C, D and E.

(iii) Section — A contains 1 to 18 objective type questions. Each question carries
1 mark.

(iv) Section — B contains question numbers 19 to 25 of very short answer type
questions and carry 2 marks each.
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(v) Section - C contains question numbers 26 to 30 of short answer type
questions and carry 3 marks each.

(vi) Section — D contains question numbers 31 & 32 are figure based questions
and carry 4 marks each.

(vii) Section - E contains question numbers 33 to 35 are long answer type
questions and carry 5 marks each.

(viit) Internal choice is available in two questions of Section-B, C and D and all
questions of Section-E. You have to attempt only one of the given choice in
such questions.

gug - JH
SECTION- A
1. ffafad § & %9 agHsad TEgeM R HX Tl o 7 1
(A) TATEIST (B) WET® (C) dffewa@r (D) ¥ gl
Which of the following can fix atmospheric nitrogen ?
(A) Anabaena (B) Nostoc (C) Oscillatoria (D) All of these
2. frfoied & @ #F A @ Bl (WREET) & 6er 8 7 1
(A) e (B) &F (C) e Ais (I®) (D) ¥ &
Which of the following is reservoir of Erythrocytes ?
(A) Spleen (B) Heart (C) Lymph node (D) All of these
3. fH Y & W Tell HH © 7 1
(A) PIRTST (B) gt (©) fafewm (D) FTH & K T
Pollen grains of which plant cause allergy ?
(A) Coriander (B) Parthenium (C) Triticum (D) None of these
4. HF-H SN I AT B FEas BT 8, S TaH 8ah dHl AR HA © ¢ 1
(A) 1S ITH (B) k1S I Tl
(©) (A &R (B) A (D) o1l
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The proteins encoded by which gene control corn borer ?

(A) CryIAc (B) CrylIl Ab
(C) Both (A) & (B) (D) CryIAb

5. HH-71 BRI B ?
(A) 7 (B) & et
(C) iR I iR IS (D) AW
Which is a dipteran ?
(A) Beetle (B) Army worm
(C) Tobacco bud worm (D) Mosquito

6. HIF-H1 57 Hig GO B & ?
(A) gGSlg TERT b (B) SIvg &
(C) T I (D) & q HE

Which is a part of in situ conservation ?
(A) Wildlife Safari Park (B) Zoological Park

(C) National Park (D) None of these

7. A T SR FeT wedl R URERE FRAT SR § ¢

(A)  FERSE B) @t

(C) Roffer (D) R

Interaction between sea anemone and clown fish is an example of :
(A) Commensalism (B) Competition

(C) Parasitism (D) Mutualism

1231/(Set : D)
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8. LH (Toud) fhe T R &l 8 ? 1
(A) e i (B) WA RN
(C) (A) &R (B) Al (D) et
LH acts on :
(A) Leydig cells (B) Sertoli cells
(C) Both (A) & (B) (D) Spermatogonia
9. & ¥ gy W g1 HF-|1 & A B § ¢ 1

(A) LH (B) FSH (C) i (D) 3 &+l
Which hormone is secreted by Pituitary gland in human female ?
(A) LH (B) FSH (C) Oxytocin (D) All of these

10. Frifaied & & @M-a1 5 & GURE 787 ain ? 1
(A)  SferE=fRa (B) ewEfgem (©) Srex (D) arex-ferelt
Which of the following is not pollinated by water ?
(A) Vallisneria (B) Hydrilla (C) Zostera (D) Water-lily

11. sfosege fFd W 8ar & ? 1
(A) mRNA (B) tRNA (C) rRNA (D) DNA
Anticodon is present on :
(A) mRNA (B) tRNA (C) rRNA (D) DNA

12. TqFN fhae eEgee d6 9 N 9 §er 2 g ? 1
A 1 B) 2 () 3 (D) 4
By how many hydrogen bonds guanine is bonded with cytosine ?
A) 1 (B) 2 € 3 (D) 4

13. Fafafad § & H9-91 SIRTAT UiemRs TEabMa STRUAT (rRNA) (28s, 18s d 5.8s) &l
ST HIA & ? 1
A) 1 (B) 1I (C) I (D) TTH ¥ iz el
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Which of the following RNA polymerase transcribes rRNAs (28s, 18s & 5.8s) ?

A) 1 B) I (C) I (D) None of these
14. % f&X[@ ST & 15% HEerdd o 369 fhae sfas aE emm ? 1
(A) 15% B) 25% (C) 35% (D) 45%

A double stranded DNA has 15% cytosine. What will be the percentage of
thiamine in it ?

(A) 15% (B) 25% (C) 35% (D) 45%

797 @& 15, 16, 17 7 18 7 G-§ 97 Ry 77 & : if¥e (A) 3T &R (R) 7 Ry 1@
FYgeT [l FT TIT FXd §Y F9 & ¥ g -

The question nos. 15, 16, 17 & 18 given below consists of two statements each :
Assertion (A) and Reason (R). Answer the questions by selecting the appropriate
option given below :

15. SAHE (A) : 519 W Bl LHIAC G et & fwd & gl 1
HR (R) : 9 Treiiires & SIf¥epay SuAT & Jifea el @l Prear Td fusr aian =
o
(A) SAREwEE (A) 3R HROT (R) AMT T & T SR (R), SIEH (A) & 98 & R

(B) SIRREA (A) 3R PR (R) 3Nl € § Tg BR (R), AHE (A) B el aren Tel
2l

(C) AR (A) § & W= BT (R) 36 ol

(D) SIR1FET (A) Td BRI (R) A1 & 36 2

1231/(Set : D)
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Assertion (A) : Biotechnology started with development of recombinant
molecules.

Reason (R) : Biotechnology mostly involves in cutting & pasting of desired parts
of DNA.

Options :

(A) Assertion (A) and Reason (R) both are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Assertion (A) and Reason (R) both are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) are true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

16. AREHET (A) : SEIBIT Th TR P CESrEl 8 off SRX & JFNRar & Gsbiva Hifdmepett g™
fafifa 2 B 1

PR (R) : STTHUA AT & ©F W G H A0 B &l
faepeq -
(A) AREE (A) 3R HROT (R) AMT T & T SR (R), SIHET (A) H &l 2T 2

(B) SIRREA (A) AR PR (R) NI € § Tg BR (R), AHT (A) B el aren Tel
2l

(C) SIRHEA (A) §W@ & Wy &RV (R) 96 3

(D) SN (A) Td &R (R) IS & T8 2
1231/(Set : D) P.T.O.
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Assertion (A) : Interferons are a type of antibodies produced by bacteria
infected cells of the body.

Reason (R) : Interferons stimulate inflammation at the site of injury.
Options :

(A) Assertion (A) and Reason (R) both are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Assertion (A) and Reason (R) both are true, but Reason (R) is not the

correct explanation of Assertion (A).

(C) Assertion (A) are true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

17. ARERE (A) : T MAMHE ScEhar 9bd MaHs Scahar § S Sl 2l 1
HRT (R) : AT AIHE ICRHA H U6 AT 9969 & QN SRR &l Sl 8l
o
(A) STEEE (A) 3R BRI (R) M1 9T & a1 SR (R), SIS (A) & 98l aare 2l

(B) IR (A) AR HROT (R) IMI G & Wg &RV (R), HAHRIT (A) H TeI AreA1 Tel
2|

(C) SIRREE (A) §W & Wy &RV (R) 36 3

(D) SIR1FET (A) Td BRI (R) A1 & 36 &
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Assertion (A) : Net primary productivity is greater than gross primary

productivity.
Reason (R) : A part of net primary productivity goes waste during respiration.
Options :

(A) Assertion (A) and Reason (R) both are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Assertion (A) and Reason (R) both are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

18. SIFEHET (A) : 35T TH SfUsiisgd ol 1
FHROT (R) : 2 Grdt () & 98 | o< S
forpeT

(A)  SARrEwEE (A) 3R HROT (R) AMT T & T SR (R), SIHSN (A) & 98 & R

(B) SIRMREA (A) AR PR (R) 3Nl € § Tg BR (R), AFHT (A) B qel aren Tel
2l

(C) AR (A) § & W= BT (R) 36 ol

(D) ST (A) Td HRT (R) IS & T8 2
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19.

20.

(10) 1231/(Set : D)

Assertion (A) : Heroin is an opioids.
Reason (R) : Heroin is obtained from Poppy plant.
Options :

(A) Assertion (A) and Reason (R) both are true and Reason (R) is the correct

explanation of Assertion (4).

(B) Assertion (A) and Reason (R) both are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) are true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

gug - §
SECTION - B

TWE TS g 9497 8l d & 7 2

What is detritus and decomposition ?

BRI SHEEA 964 & HROT 1 & 7 2
What are the reasons of rise in our population ?

AYAT

OR
=T dfer e SEgel & W ffaw A B seR e § 9 ©

Name various copper releasing IUDs. How do these help in contraception ?
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22.

23.

24.

25.

(11) 1231/(Set : D)
YT U 37 i1 & AR €O ©9 § Ul Sl ol 36 AGARG SR H AT F1 8 P 2

What is the genetic basis of proof that codon is a triplet and is read in

contiguous manner ?

{ar
OR
AUG &l 80 & 1 2 ?
What is the dual function of AUG ?
g5y {6 Hews Afmet & M R 2

Name various male sex accessory ducts.

IR (TgwiEs) R Fed ¥ ? 36e B & Saek ffau 2

What is Aneuploidy ? Write any two example of it.

SO TIRSHEl M B A fRaT) g6 g H WIEReT M & g8 | R’ ¥ © 7 2

Name first transgenic cow. What is the advantage of its milk over natural cow
milk ?

T 89 ¥ Safafqgar @ @y @ 1 999 2 & ? 2

What is the impact of loss of biodiversity in a region ?

1231/(Set : D) P.T.O.



(12) 1231/(Set :

gl -9
SECTION- C

26. T O T I B THibT = 5

Draw a well labelled diagram of fertilized embryo sac.

27. UG ¥ ArpEIR & S W & H gewEye fafter @ e
What are the important defence mechanisms in plants against herbivory ?

28. el Ui & Ofy= gl & 9r ° fafau

Write about various barriers of innate immunity.

YqT
OR

detg & SANT & EMNERE T HM B § 7

What are the harmful effects of using tobacco ?

29. AU FH fafre Wl W 5 YHR Her o1 9e%ar § 7

How can DNA be cut at specific locations ?

1231/(Set : D)
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g

OR
g & di7 e ST & HH-9 © 7

What are the three critical research areas of biotechnology ?

30. HFRUAT YRS I, 11, 111 % & fafegy 3
Write down the role of RNA polymerase I, II, III.

guE - §
SECTION - D

31. QTR & TR0 B TH oS amied e REmr @ 31 599 gaiag e gt
% JAT N -

Schematic representation of the steps in PCR is shown below. Answer its related
following questions :

pRiEp SR PERT e 5
@ Heat (a)

-
TT T T T 11711 1, ] |
b

Siga o
SR

(B)

g
+ deoxynucleotides

1231/(Set : D) P.T.O.
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(i) G B FR F T
What is the functions of PCR ?

(i) B TEEY SN 360 TEENS &9 7 8 7
Identify B and what is its chemical nature ?

STerE
OR

CHTZ? I %9 g § o< & 2 ?

What is C ? Name its source organism.

(i) A D =R & W FAR

Name the step of A and D.

32.

Electrodes

Condenser

Liquid water in trap

1231/(Set : D)
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e & T & I o @ aRgr R Frfafad gt & saX G -

See the above diagram of Miller's experiment and answer the following questions :

(i) g ad & R 3 78 W e ? 1
In which year Miller performed this experiment ?

(i) SN B TA P 9% AR H b &N 3@ T FHrEfh ARTh B AW Ry 1
Name the organic compounds observed by him in liquid after running the
experiment.

(iti) IH YREBET B qaARY B BT 7 SW RT 10 Ges S GeEdr § e ¥
EAS GO RG] 2

State the hypothesis which Miller tried to prove in the laboratory with the
help of setup of experiment given above.

STEET
OR

59 AN # BA-HH-A N R q s 7

Which gases were used in this experiment ?

qug -
SECTION - E

33. gFa ¥ U 9N o AR e faert @ e w] 5

Describe various chromosomal disorders found in human beings.

STeE

OR

TG T B A BT

Describe transcription unit.

1231/(Set : D) P.T.O.
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34. Al Ud USTEH % SN I § gewsial Bl i i auie i 5
Describe the role of microbes in the production of Industrial chemicals and
enzymes.

SEE|
OR
T IR F gEShal B G #@ aoE il

Describe the role of microbes in household products.

35. WFEHY %l G # O & o Sl 5

Describe the structure of pollen grain in detail.

e
OR

qMa § F & a9 9 SRl (SRice) T 8 Al gRacl (Jaadi) B Ao it

Describe the changes take place from the formation of zygote to implantation in

human.
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